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No. of Questions /el & wheer : 150

Time /W% : 2 Hours/9% J . : Full Marks/quil® : 450

Note : (1) Attemptasmanyquuﬂmnyaucm Each question carries 3 marks. One
mark will be deducted for éach incorrect answer, Zeromarkwﬂlbeav.rarded
for each unattempted question.
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answer, choose the cloaeat one.
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1. Carvaka believes that |
{1} there is no consciousness
{2) consciousness is a product of matter
(3} consciousness is the reality
(4} consciousness is an attribute of soul

wmtE A & _ :
(1) I R & A o (2) <N 9§ T W TOE ¢
(3) e & @ & (4) Janm wen w oo ¥
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2. According to the Carvaka, inference is not a means of valid knowledge because
{1) inference contradicts perception
(2) inference proves the existence of self
{(3) existence proves rebirth
{4) relation of Vyapti cannot be conclusively established
wniE ¥ SgER AW 3w 3o A 3, e
(1) 39 999 F & a:m L4
(2) ¥3FER sen fif T g =@ R

(3) ¥gEm g g W}
@) =fs = w7y freoew v & wfite T@ @ v

3. The Carvaka Philosophy is called heterodox because

(1) it rejects God (2) it rejects soul

(3) it rejects the Vedas (4) it rejects heaven and hell
wEiw gl afes wo wm ¥, ®ifE T3

(1) ¥ B fiwn w=ar ¢ (2) em | JEiER F=Ta ¥

(3) 37 AN wfiFw F@ R (4) & a0 T W FEHR WG 2

4. Which one of the following are called allied systems?
{1} Carvaka and Jainism {2) Jainism and Buddhism

(3} Samkhya and Vedanta (4) eraya and Vaisesika

(148) ' 2
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foaftfem & & @ wwedy = IR ¥
(1) SmafE T S (2) dmeef T dged
(3) wWiem Tur A (4) =M T AREE

Which one of the following is accepted by Buddhism?

(1) No soul, no Karma (2) No soul, no rebirth
(3] No soul, no memory (4) No soul but rebirth
2 e Freeen & 3 e b T A7

(1) ¥ 3en, 7 &4 (2) A 3mEn, 7 T
-(ajlqm.irl{% - [4) e T feg e
Which one of the following is not accepted by Buddhism?

(1) All is changing _ (2) All is one

(3) All is suffering (4) All is caused

g afn Praffm & & Ry = wFar?

(1) &% ¥8 yhedfe § (2] ¥ O TH R

(3) v Fo g @ (4] TE F® 9w R

14P/229/4

Which one of the following schools of Buddhism believes that object is known

inferentially?

(1) Sautrantika {2) Vaibhasika (3} Vijnanavada (4) Sunyavada
Az o T Rrefafen ¥ A 99 wyam 7 g R B wed W 9@ e A d 37

(1) drifes 2) e (3) ﬁm (4) YR

(P.T.0.)
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8. The view that the internal idea appears as object is held by

10.

11.

(148)

(1) Vaibhasika (2) Sautrantika {3) Vijnanavada

she Pgm o & = ¥ e g A wa feww RY
(1) Jwih (2) d=ifos (3) fagram

(4) Sunyavada

(4} ¥R

The view that Nirvana is of the nature of absence is held by

{1} Sunyavada (2} Vijnanavada (3) Vaibhasika
fator ana w9 2—%9 WA & A=A #

(4) Sautrantika

(4) Hrifas

(1 =y - (2) T (3) Awifer

The concept of Prajnaparamita is asscciated with .

(1) Vijnanavada (2) Sunyavada {(3) Sautrantika  (4) Vaibhasika
wmrim § sEmmen frd wafim #7

(1) Ty (2) R (3) #rwfes (4) i
The Jaina Philosophy may be called

(1) realism and deism : (2] realism and spiritualism
(3) realism and monism {4) realism and materialism
¥ 2R W ww oW T R

(1) AR T4 FaaRiREER (2) TEHAR T IFCAER

(3) TR 9T THEER (4) Tegarg A iR



13.

14.

(148)

Which one of the following is opposed by the Jaina Anekantavada?
(1) The Buddhist view of reality

{2} The Vedantika view of reality

(3) Both the Buddhist and the Vedantika views of reality

(4) None of the above

] FwmEr Peafefr § @ frew fig s 27

{1 aﬁmmmm

(2) wq Tt ST W oW

(3 W Fh Ay F g T A W

(4) 00w # & Al w0 o

According to Jainism, reality has many attributes but

{1} only some of them are real (2) all of them are real

(3) none of them are real {4) conly one of them is real
¥ 7 % amEn W ¥ W waw §, feg

) FA IS s § 2 3 & oft ag §

@ % A i v T A (4) I & ¥aw o ww }

“The Jiva according to Jainism is

(1} of the size of body {2) atomic

(3) all pervasive {4} unchgnging

14P/229 /4
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15.

16.

17.

(148)

¥ gid F wgER AT b

(1) R & TR aren

(3 fyg ¥

The Jiva according to Jainism
(1) is partless

(3) is one

I T ¥ FgER AE

(1) P &

(3) = B

The Jaina Philosophy advocates
{1} pluralism (2) idealiam
wm zeiw wfnfes &= ¢

(1) AR (2) wEER

(2) TN ¥

(4) SR

(2) has infinite pérts

(4} 1= conﬁciauanenu as such

(2) Fa Faaal B g ¥

(4) Jo=r @ A

(3) - akepticiam (4) dogmatism
(3) wigamw (4) weaTg

According to Jainism, the Bondage of the Jiva is

(1) unreal

. (3) Both real and unreal

¥ 7T ¥ FIER S T OEE R
(1) Erafas
(3) iy awr wawaREE

{2
(4)

(2

(4]

imaginary
real

EAiE
T
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Which one of the following is not a feature of Jainiam?

(1) Realism (2) Pluralism = (3) Relativism (4] Absolutism
fraffam # @ 99 3 @R = ago T 37

(1) FgamE (2) 3rFamETg (3) wHEmETEE (4) FrieEmER

Which one of the following believes that the world is like a dream?
{1} Carvaka (2) Advaita Vedanta

{3) Yogacara Vijnanavada (4} Madhyamika Sunyavada

_ﬁqﬁuﬁnﬁﬂaﬁwmtﬂ:mwt?

(1) =i (2) ik Az (3) dmem Rraer (4} TeERE TEER

Which one of the following believes that God is only the efficient cause of the world?

(1) Mimamsa (2) Visistadvaita Vedanta
{3} Advaita Vedanta (4) Nyaya

frforRg & @ #7 wwa ¥ 5 frm e w1 Fwa Bm wo 27

(1) e (2) ffieds 3= (3) dn 3T (4) =M

The first evolute of the Samkhya theory of creation is

(1) Buddhi (2] Ego (3) Mind (4) Sense-organs
#mm ¥ gt Rgra = e Rew R
) 9fe (2} ITEHH (3) (4) sht
7 (P.T.0.}
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Purusa according to the Samkhya is
{1} cause of creation

(2] effect of creation

(3] Both cause and effect of creation
(4) Neitlier cause nor effect of création

we & aqeR T X

(1) gft = = - 2) uft & wd

(3) gt = W I wE I | 14;aqfiwm.qw§
The objective world according to the Samkhya is

(1) distoction of Prakriti (2} modification of Prakrit
3) differenit from Prakviti (4} independent of Prakriti

W % sgEm a-wm )
} Rafd @ whadm G wRIfw @ w2

Which one of the follo'a.mg is the feature of Sattva Guna nmdmg to the Samkhya
Philosophy?

(1) P.leaaure {2) Hmwnm {3) Activity ' (4) Pain
v i & wgar frafrien § A ww M W e e 47 ‘
1) WA (2 qEm (3) Bwar 4 3.

Which one of the following mnotbcattrihuiedtoﬂleﬁamkhjrnPwusa? '
(1) Knower / {2) Enjoyer
(3) Beyond gualities {4} Ground of consciousness
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Prerfefas 3 & R oiew T & A T stw W w?
(1) s (2) W (3) Tt (4) FEN F TG

The Samkhya Purusa is

(1) knower only (2) enjoyer only

(3) knower and enjoyer (4) knower, enjoyer and agent
wiem W T R

(1) ¥9a F=0 - (2) ¥

(3) YT wn W {4) T, SR am Fa

The piece of Sandalwood is good amslﬁng—ﬁlis knowledge according to the Nyaya is
detained through

" (1) perception _ (2) Jnanalaksana perception
(3) Samanyalaksana perception (4] inference
wer g b—a geie % SER o 3R R R
(1) wrad (2) TN YW (3) AWEEET YRS (4) SR

According to the Nyaya, knowledge is
(1) intrinsically valid

(2) intrinsically invalid
(3] extrinsically invalid
(4) intrinsically valid and intrinsically invalid

g ' (P.T.C.)
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43. The propounder of the Mimamea system is supposed to be

(1] Kumarila (2) -Sabara (3] Jaimini {4) Prabheakara
i o ® veds oR W ¥ |
(1] i@ (2} I (3) (4) AR

44, 'ﬁ:e subject-matter of the Vedas according to the Mimamsa is

(1) action (2) knowledge (3} Brahman (4] devotion
diain & wgER A W yiow }
(1) *H {2) A (3) ¥@ (4) Wi

45. Mimamsa believes in

(1] Paratah Pramana | (2) Svatah Pramana

(3) Svatsh Apramana (4) Svatah Apramana, Paratah Pramana
wime e A *'

(1) Ty (2) T

(3) w&a: HgH (4) A FYHOL, WA: WHO

46. The concept of Triputipratyaksa is accepted by

(1) Kumarita (2) Murari
(3) Both Kumarila and Murari (4} Prabhakara
Py ) sraawon e w@ 3 |
(1) gia | - (2 ol

(3) Fha A gl @ =

- (148) 14
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Apurva according to the Mimamsa is

(1} substance (2) quality

(3) conscious principle (4) a quality of God
dpior gei9 ¥ wgER AE B

{1} o 7= 2) @™ (3) = T (4 FERw

Which one of the following is not counted in the Prasthanatrayi of the Vedanta?

(1) Rigveda (2] Brahma Sutras

(3) Upanishads (4) Gita

fraforfas § & 9 ¥z % waEd 8 T e e

) wR (2) FE @ TR (@

The author of Sarirakabhasya is
(1} Ramananda (2) Ramanuja {3) Samkara {4) Madhva
i & wia #

(1) T=H= (2) T (3) (4) 7=

Ignorance according to Samkara is

(1) real | . (2) unreal -

{3) Both real and unreal (4) Neither real nor unreal
T & WgEw W R

(1) ¥ (2)

(3) & @ ¥ qH (4) 2 ¥, T I

15 (P.T.0.)
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Bl.

3.

83.

54,

{148

According to Samkara, ignorance is removed by

(1} Brahman | (2 knowledge of Brahman

(3 devotion to Brahman {4) disinterested action

TR ¥ SR 3R g e R |

(1) W& gRT. (2) "®-7R T (3} Ww-~ufs T 4 freem v TR

According to Samkaracarya, activity belongs to

{1}, body " (2) consciousness -[éj God - (4) Ego
wrard ¥ FgEn fear o g |
(1) =t # (2) B # (3) $w F (4} >mwwn #

Knowledge according to Samkaracarya is

(1) mental activity (2} bodily activity

(3) subject-dependent (4) object-dependent

WY ¥ WEn YA & |

(1) = fimn (2) withs fFar (3) W= @) TR

Which one of the fallowing is not subscribed to by Samkaracarya?

(1) Sadyahmukti (2) Videhamukti (3) Kramamukti {(4) Jivanamukti
Rrfirfirn & & R viwoard lf w7 | | |

(1) wughs 2) Pt (3) Fwgs (4) s

16 -
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Locus of Maya according to Samkaracarya is

{1) ignorance (2] world (3) ego (4) Brahman
AHEE & W AR WA R

(1} srA (2) ¥/ (3) R L

The world according to Ramanuja is

(1) real | (2) unreal

(3) Both real and unreal (4) Neither real nor unreal
TS % 3FER wiq

=\ (2) ¥

(3) ®q @ R I (4] T 9g, T IR

According to Ramanuja, Cit is related to Acit because of

(1) God’s will (2) Human action

(3} God’s will and human action (4) their natural relation
Y & agEn faq = i & APy v

(uimiﬁrkmiaam (2) 7= F = F W

(3) fr F o T A kW F FW (4 T ARG TG F

The relation that obtains between Cit and God is called by Ramanuja
(1) Samyoga (2) Aprithaksiddhi

(3) Samavaya (4) Difference

17 _ {P.T.0.)
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61.

(148)

fa v den & W9 & wew B v v €
(1) wam (2) sz 13)

The author of Life Divine is -

(1} Sri Aurobindo ]
(3) Maharshi Dayananda (4)
o R (R o) % draw 4

(1) o swf (2) T (3)
Sri Aurobindo’s concept of evolution is ‘
(1) mechanical  {2) physical (3)
A0 wfa & e i smEuron

(1) i (2 i 3

The world according to Sri Aurobindo is

#m @ ¥
Gandhi

weff R (4) et
purposive .(4] natural
T {4) wrpfe

(1) Neither real nor unreal (2) Both real and unreal
(3) unreal (4) real |

A A= ® aFgeR W ¥

(1) 7 W, 7 3w (2) W T sy B

(3) s (4)

Which one of the following is kmown as the 'bridge between India and the West’?

(1) Vivekananda (2)

[3) Gandhi (4

18

Radhakrishnan

Tagore
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mﬁﬁm‘mmm#ma@'%mﬁmmn
(1) FEwms (2) TuTERwR {3) it (4) M

Which one of the following is superior knowledge according to Vivekananda?

(I) Perceptual knowledge (2) Inferential knowledge
(3) Intuitive knowledge (@) xnowtedgg by comparison
fRmr ¥ e Frefifaa § @ 9 38 W A7

{1) TeRRE 14 @) s T

(3) Wi M (4] I /¥ WH I

‘Back to the Vedas’ is associated with

{1} Vivekananda h (2) Gandhi

(3) Radhakrishnan (4) Dayananda

‘T A i amm T B g ¥7

(1) Rewneg (2) e (3) TEFET (4} =

According to Vivekananda, God is

(1} Both personal and impersonal (2] personal
(3} impersonal - @] Neither personal nor impersonal
fwR= & agen e R
(1) dafrs wwn fifRes 9= 2) aafr=w
tS)ﬁﬁﬁﬁ (4) 7 Aofes, 7 Pfafes
19 (P.T.0.)
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66. Which one of the following is true of Gandhi?

(1) God is superior to truth (2} Truth is superior to Ahimsa
{3) Ahimsa is superior to truth (4) Truth is God |
N%ﬁﬁmiﬁﬂ?ﬂﬁ?

(1) fem ww & A} (2) == ke A X}

(3) fen we @ A R (4] @t R

67. Which one of the following is associated with the elimination of Satipratha?

(1} Gandhi ' (2) Raja an-Mohnn'Ruy
(3) Sri lAurchmdn {4) Tagore

Proffem § & # whvn ¥ IEm 3 T A7

(1) e | - (2) TN TR Tu

3) f iz (4) &ir

68. According to Plato, ideas reside in

(1) mﬂn’!: mind (2) God's mind
(@) their own world ) imaginary world
@ mmw&f
(1) wg= & & & | (2) Tr % w &

(3) o v & W § ' (4] TR o

(148) | . 20
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According to Plato

(1) there is one universal

{2) there are many universals

{(3) universal is derived from particulars

(4] universal is changing

@ F AN
(1) "= oE (2) == aRE &
(3) wema B @ Feer En ¥ (4) wm=a e

“You cannot enter twice into the same river.” This view is held by

(1) Zeno (2) Heraclitus (3) Socrates (4] Plato
Yy ZER s R § Em oA W we) T we R e
(1) (2) ST (3) F (4) =&
“ Reality is number.” This view is held by
1) Pythegoras (2] Thales 3) Plato (4) Aristotle
"E‘E[mt.l"ﬂﬂﬂﬂmt? |
{1y TmEmiE (2) el (3) = (4) W
“Knowledge is virtue.” This view is held by
(1} Plato (2) Aristotle (3) Su.r:rates (4) Plotinus
‘g wge §1” T8 T @7
(1) =& (2) ¥ (3) gFw (4) e
g1 - {P.T.0.}
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73. According to Aristotle, the real is

(1) particular " . (2} universal
(3) indeterminate o 4 concrete universal
IR & gER a ¥

{1) Ty {2) wF= (3) sfffm wer (4) T ww=

74. According to Aristotle, God is
(1) pure potentiality
(2) pure actuality
(3) Both pure potentiality and pure actuality
(4} Neither pure potentiality nor pure actuality
e % smen fw ) ¢ |
(1} Y& e (2) m i
| (@) g Em T g AR [4) 7 Y2 v, 7 Yg e

75. Aristotle is

(1) idealist {2) subjective idealiat
(3 monist . (4] realist

s |

(1} YerEad {2) AT YETEA  (3) AT (4) wegawE

76. The concept of 'unmoved mover’ in Aristotle’s Philosophy stands for
(1) God (2) matter {3} ideas " (4) mind

(148) _ 22
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e & T § orw www' WA wr R

(1) = Q) wETw # (3) et = @
Which one of the following believes that reality is everchanging?

(1) Plato (2) Heraclitus [3) Aristotle (4] Thales
frofafgs ¥ 3 #Y9 wm # & w9 Rew ofEdafe 27 '
(1) == (@) ¥R (3) " ¥7eq, (4) ¥
“Man is the measure of all things.” This view is held by

(1) Socrates (2] Plato {3) Aristotle (4) Protagoras
“rym 6 wht e W o ¥ = ww BeEe b7

(1) g (2) == {3) WH (4) TrETRE

] think therefore ! am.” This according to Descartes is

(1) deductive truth

(2] inductive truth

(3) self-evident truth

(4] Both deductive and inductive truth

“# gremn § i & €1 % 3@ ¥ wgeR

(1) FrAe = (2) ST A

(3} wafig ¥ (4] FTTR q S & A

23 = (P.T.0.}
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81.
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The world according to Descartes’ is real because
(1) it is perceived (2) it is the cause of perception
(3) its existence is self-evident (4) it is God's creation

Im#mmﬂt,ﬁﬁ.

(1) 0w vy wm o} (2) % wwm W HAw R
(3) Foh wer wrdfig ¥ (4) @ fwx 6 =
Which one of the following advocates interactionism to sclve the relation of mind-body
problem? . :

(1) Descartes {2) Spinoza (3) Leibnitz (4) Malebranche

-1t Twa ) TR % gaue % R feafifae & o Srasfiveem @ owwd W@
1 3] _ _

(1) wef - (2) e (3} s (4) Femt

Which one of the following cannat be associdted with Descartes?

(1) Dualism (2) Theism (3) Pantheism (4] Interactionism
fcfafes § @ fR8 3w % @ ol Stm W @
(1) @ v " (3) whwn (4) TR

Which one of the following cannot be attributed to Descartes?
{1} God creates everything |

- {2) God creates a thing which is good

(3} A thing is good because God creates it

{4) God is not immanent in the world

24
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frafirfee & @ ot 3 % w7 St o w7
(1) fet 7@ 78 = wEfm 3

(2) b ok T W oI R R g}

(3) #rf awg o & wis 3@ Tem-m 4

(4) b § et T ¥

The essence of mind according to Descartes is

(1) thought (2) activity

(3) extension (4) thought and activity

¥wrd % SHER T W v}

(1) fem (2} frm (3) famm (4) fomm mur fimm

God according to Spinoza is
{1} immanent in the world (2) transcendent to the world

(3] Bath immanent and transcendent [4) object of worship

faden ¥ amEn R

(1) fwen | {(2) Trsavi

(3) faen mut Rrvarfte 3 (@) T = fma
Which one of the following is true according to Spinoza?
{1} Thought and extension are independent substances
(2) They are the only two known attributes of God |
(3] They are the only attributes of God ‘

[4) They influence each other
25 P.T.0.}
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P & & # fed ¥ omam o 7
:1)Wﬂtﬁﬂnﬁﬁamt 2 AdmE R o &
(3) At % ym o & . (4 A g W i s §

Spinoza solves the problem of mind-body relation through

(1) occasionalism (2} parallelism

3) interactionism (4} pre-catablished harmany
férin wA-wit ae B EHE W FENE 4

(1) sw T | (2) FHA T

(3) firmmfisamEmn g (4) TH-wnftm W g

Spinoza believea that

(1} God creates the world

(2) God hes a purpose in creating the world
(3) God is an object of worship

ﬁl God is the ground of the world

ferr wam & %
{1y fer Im B = owm (2) W R = e b
(3) R g W R R (4) R Sy W w8
. Spinoza can be said to be a _ |
(1) monist . (2) dualist |
@ pluralist (4) subjective idealist
26
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21.

(148)
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ferden = w0 . ' #

(1) AT (2) Yeardt (3) AT (4) SToPR FeEEERy
Spinoza's system is

(1) indeterministic (2) deterministic

(3) utilitarian (4) pragmatic
- faFn = qria R

(1) wfeftoErd (2) FrafmErdg (3) FvarPramErd (4) T
The mark of substance according to Leibnitz is

(1) materiality (2) independence {3) divisibility (4) force
webra ¥ AR 7 F wem R

(1) wrfEm (2) & (3) fawr=mm (4) =few

Which one of the following is not true according to Leibnitz?
(1) Monads do net influence each other

(2) - Monads are windowless |

{3) Monads are related

(4} Monads have no relation

i & s el § & 99 @@ T L
(1) Rrefig w-gat = wifa T8 =@

(2) fagfemg e &

(3) fcfimg vl ¥

(4) Faefrgall & waa T &

27 | (P.T.0,
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o4.

98.

(148)

According to Leibnitz
(1} there ia natural harmony in monads

(2) there is no harmony in monads

(3) God sets the harmony once for all

" (4) God sets the harmony from time to time

HIART WA
(1) fefageit & wmaiies wmie §

(2 Refimgtt § amior &

(3] fwn i ¥ R awwe wnftn w4
(4) T WRG-ERY 90 amaEs TRy o e A

Which one of the following cannot be attributed to Leibnitz?
(1) Qualitative difference in monads

(2) Quantitative dilf&mce in monada

(3) Plurality of monads

{4) Monads as centres of conacicusness

frefufore 4 @ R vmpaface & o < Sp = awm?

(1} Rl % e 97 (2] Pt 3§ TeEw W
(3) frafrgail & s (4] Rfeg do % Fx F = A

Which one of the following believes that all knowledge is innate?
(1) Leibnitz {2} Locke {3) Kant (4} Hume

28
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P & & ¥ T & W yE S A 47 |
(1) vt (2) =% (3) wmE 4 ®qH

Which one of the following refutes the theory of innate ideas?

(1) Descartes {2) Locke (3) Berkeley (4) Kant
frafuftgn § @ T FTe Yd & g o = kY
(1) e (2) Wi (3) (4) ®we

Which one of the following is known as ‘God intoxicated philosopher’?

(1) Kant (2) Plato (3) Leibnitz (4) -Spinoza.
Afafar § ¥ ot ‘bat=w e & wq 8 s amn 87
(1) & (2) @ (3) =i (4) fRRmn

Which one of the following offers occasionalism as a solution to the problem of

mind-body relation?

(1) Descartes {2) Spinoza (3) Geulinx (4) Leibnitz

Prffan # & o w-iR wEw B ogrEn f we % R seear w1 e e W
27
(1) ¥=d (2) fern (3) =faw (4) wmERT

sSubstance is something [ know not what.” This view is held by

(1) Locke (2) Berkeley (3] Descartes (4) Hume
“osp wE e # P & € wwa B oag v b ww w feew b .
(1) &= (2) W& @ T (4) W

29 : (P.T.0.]
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100.

101.

103.

103.

(148)

According to Locke the secondary qualities are

(1) unreal (2) uuh_:ject—dependent

(3) object-dependent - (4) imaginary

wiF & agar yor §

(1) sEveafne (2) Y w fek (3) ¥y w ok (4} T

Which one of the following is an instance of seiied. modes m:u:nrding to Lmh?
(1) ldea of soul {2) Idea of beauty {3} Idea nt" God (4) Idea of matter
ol % sgan FrafRe § & ¥R fife er (Gw) = qER &7

(1} sy (2) dhed W (3) R W AR (4] Zo% w1 wea

Which one of the following is not a certain knowledge according to Locke?

(1} A triangle has three angles (2) Triangle is not circular
(3) Actual triangle exists (4] A triangle has three arms
% ¥ s fafufm # @ @ Aitw yw W@ 47
(1) T B ¥ 7w (2) frgw sivemew T B
(3) awafem P o wor weh (4) o fngm & # gard o &
According to Locke God is
(1) passive (2) Both passive and active
[3) active . : (4} Neither passive nor active
A % arger v}
(1) P - 2y RS m kg 2
{3) =fw (4) 7 PAfeey, 3 wfi

30
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108.

106.

107.

- (148)

Mind according to Locke is
(1) Both active and passive
(3) passive only

wiw % agen ¥

(1) i 7o Afes 3

(3) ¥we ffea

According to Locke, we know

(1) the essence of God

(3) that God’s existence is uncertain
wfw % agEn g W § TR

(1} = W aews w= ok

(3) fer @ wm affEE ?

Berkeley is
{1} an atheist (2} an idealist
wa ¥

(1) PhEEm (2) weagETd)

(2)
(4)

(2)

(4)

(2)

(4)

(2)

(4)

(3)

{3)

14P/229/4

active only

Neither active nor passive

e
3 wfFg, 7 Ffesr

that God’s idea is innate

that God exists

fw & vow W R

Sy & wan

a materialist (4) a rationalist

et (4 T

Which one of the following is not true according to Berkeley?

(1] There is some cause of ideas

(3) Spirit is active

31

(2)
(4)

That cause is spirit F

We can perceive spirit
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108.

W % s Pt § 2 o w0 0 47 |
(1) werdl & % Fwo g} (2) =& s Fwn ¥
(3) wmom wfem R | | @} W™ N W T W

According to Berkeley, the idea of sleep and the idea of refreshment are

(1) naturally connected (2) connected by God

(3) logically connected {4} not connected at all

W & agen A & v T weeh % o § |

(1) = e (2) tem g Paffm e &
(3] ke e | [4) W W o 4 |

109. According to Hume

(148)

{1} impressions are copies of ideas
(2] impressions and ideas are independent

' (3) ideas are copies of impressions

{4) all our knowledge arises from idcfm
@ ¥ wgEn

(1) WerR w6 shffat §

{2) PR AT Woqw wrow

(3) v st i wffifat §

(4) W w0 ¥ At @ 3w g d

32
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111.

14P/22974

Space according to Kant is

(1) an intuition (2) a concept
(3} independent object (4) relation between objects
wz & srpan fog b

(1) & (2) W |

(3), @ T - (4 T & f= Ty

Which one of the following gives necessary knowledge but not new knowledge according
to Kant?

{1) Analytic statement (2) Synthetic statement

(3) Synthetic a priori statement {4) Synthetic a posteriori statement

wwz & spen Prafafes § @ o ofed TR 3§ R T ww Al A

112.

{148)

(1) freesE w0 (2) WYEAICTEF T
(3) HTETOTeTS WREwfE He (4] TR VAT

The source of human knowledge according to Kant is

(1) divine reason (2) sensibility
(3} understanding (4] Both sensibility and understanding
Fwz % el FE-TA W HE ¥
(1) & iz ; | (2) e .
(3 Ty (4) ¥ wn gy T
33 (P.T.0.}
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113. The a priori categories of understanding according to Kant can be used with regard ta
the ' '

(1) transcendent only

(2) empitical only

{3} Both transcendent and empirical

{4} Neither transcendent nor empmcal )

w % oER Wy % IR Wt W i Rk wa @ e e ke

(1} spwaea & waFa J

(2 gefes ¥ warw # _

(3) stqgwanfm wa {fEomafrs 991 % g §

(4) 7 sgwaEriE, 7 (AgwiE ¥ waa §
114. According to Kant

(1) uﬂngacxistﬁiamalup_nm

(2) things can exist without space

(3] space can be without things
(4) space cannot be without things

¥ ¥ IJFER _ _

(1) =gy wrafew R & Bt & @) v Ry ¥ e @ owh f

3) fog el & fiem B W ) fog st % f 56 R wwn
118, Time mdingmx;mi.

(1) real thing (2) property of real things

(3] category of understanding {4} form of sensibility

(148) ' %
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117,

118.

(148)
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FZ F AR ¥ B
(1) TrAfe =eg (2) arafyw aRgel W oW
(3) whafg A wl (4) WA ] AR

The number of the categories of understanding according to Kant is
w2 ¥ ATAR Thyly w AR & e @
(1) i2 2 6 (3 8 4 20

Kant's philosophical method is

(1) mathematical (2} deductive

(3} inductive (4} transcendental

Fwz # uifiE g @

(1) nfrfta (2) P @) J—— (4) v

Which one of the following is true according to Kant? _
ll]IﬁwmjmdmIm {2) I know things as they are
(3) I can think of myself (4) 1 know only my ideas
w2 ¥ e Pl § @ #8 w7

1y 4w @) 7@ w0 a4 P w4 {

o) Aagait wwwiamm{ fm e dad

(3) f w=d & at 3§ drw www

(4) % ¥am a@ vt W s §

35 (P.T.0.)
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119. According to Kant, we receive the content of knowledge from

(1) understanding - 2) sensibility

(3} reason (4) God |

T2 % smun ¥ % et o W g b

(1) wafzd (@ e (@) T 3 @) e
120. The source of transcendental illusion according to Kant is

(1) senasibility (2 understanding

{3] reason (4) God

wvz % IFER VAT W w &

(1) Hez 2 =iy @ wE (4) e
121, According to Kant things-in-themselves can be

(1) m::m'n- _ (2) known and thought

(3) thought (4) Neither known nor thought

s % argEn e -yt

(1) wFt = wa ¥ (2) 9w dh o

(3) ot =1 et ¥ . (4}#1%#1&1#!,:“31@!“

123. Self according to Kant is o
(1) a simple substance (2) a complex substance ‘
(3) a logical principle (4] a psychological principle

(148) 36
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W2 % FIER AT §
(1) & T 2 P z= (3) =Fw 7= (4) W T

According to Kant

(1) object follows knowledge (2) knowledge follows ohject

{3} object is known as it is [4) knowledge knows the ideas of mind
T2 F AN _ |

(1} g ¥9 | FgET F R () TV U W AW F@ R

(3) @eg ¥t ¥ ¢ & weh o b (4] ¥H 57 % WEE W AEW 2

Which one of the follawing believes that everything is based on €go?

(1) Descartes (2) Kant (3) Hegel (4) Fichte
Arfiiferr 3§ @ & T @ 5 a8 39 s W anfia ¥7
(1} ¥ (2) wmE (3) @ 4) e

Which one of the following believes th.ﬁt nature is visible spirit and spirit is invisible
nature? '

(1] Fichte (2) Schelling (3) Hegel (4} Kant
frrfafiga & @ * wm R B vFR g R ¥ R R osew vl R
(1) fwr (2) *fer (3) &= (4) =
Absotute is the “night in which all cows are black”. This is a criticism
(1) by Hegel against Schelling (2) by Hegel against Spinoza
(3) by Hegel against Kant (4) by Hegel against Fichte
37 | (P.1.0.)
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127.

128.

129.

g 7 “aw TR & Rl vt vl el €71 T amee R
(1) o & A F g (2 Weh RRe ¥ g
(@) dira @ e ¥ ez (4) ¥irm R R ¥ g

Which one of the following maintaina that contradiction is the root of ail life and
movement? ' |

(1) Plata {2) Kant (3] Hegel (4] Spinoza

Frffia 4 3 ¥ omer t 5 Bl w iaw @ i & qw § Re
(1) =2 (2) wwe : {3) ¥ 4) FErn

Which one of the following is unconditionally good according ta Kant? .

(1) Knowledge {2} Power {3) Wealth [4) Good will
w2 ¥ smEn frafafim ¥ @ ¥ feofis w0 & v 47
(1) ™™ (2) witn {3 - (4) W Gy

According to Kant, an act is good if it is done

(1) from self-love (2} from inclination

(148)

(3) frnm-r'ﬁspcct for moral law {4) from sympathy
F% & sgEn wrf wA gV Y, AR

1) wm-3m & fimn o &

(2} wqfeem fem w4

(3 A fam % vl amge-wm @ fer amn #

(4) weryf @ fm @



130. Which one of the following is not true according to Kant?

" 131

13a.

133.

(148)

(1) Moral man is worthy of happiness
(2) Obedience to morality guarantees happiness
(3) Obedience to morality does not guarantee happiness

14P/220/4

(4) The highest good can be realized only in the life to come

frfeflge § @ FT T F omER wl T X7
(1) "7 g@ T w s

(2) Aowm | T @ W AR 30}

(3) Awm @ e U W ooATEEE T A

(4) water g wrwh o F @ WR @ Tw R

Good wilt according to Kant is

(1) rational will  (2) divine will (3) social will
Wiz % TR [V GF ¢ .

(1) Afgs v (2) & wwey (3) = Hwea

Which one of the following is a gross egoistic hedonist?

{1) Epicurus (2) Aristippus (3] Bentham
frafeies § & @ UH wE AWE g 37
(1) PR (2) wifem (3) e

(4) emotional will
(4) VTSNS TECT
(4] Ml

4y Fra

Superiority of a pleasure according to Bentham is judged on the ground of its

(1) quality (2) quantity

(3) Both quality and quantity (4] Neither quality nor quantity

39
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134.

135.

136.

(148}

e & e Rt gu f den W Py R sman w fen s i
(1) I (2) v
(3 T wr w3 {4) 3 7m, 2 T

What _Mg to Bentham leads man from egoism to utilitarianism?

(1) Internal sanctions {2) Sense of human dignity
(3) Emmél sanctions {4) Man’s rationality
AW ¥ FYER WA-T FRO WG W w@dEr d svienar & s @ amr 47
(1) st i @) Ao

(3) W siEm (4) nawr-ﬁﬂﬁwnam_

Which one of the following holds that the most highly evolved conduct yields the
greatest amount of happiness? - -

(1} Bentham (2) Mill {3) Butler (4) Spencer

Wﬁﬂmmtﬁmmmﬁm«mm“im;
¢ 2

'm = @) fe (3) weew (4) "
The ethical ideal of perfectionism is |

(1) self-realization (2) God-realization

(3) performance of duty {#) happiness in future life
s W e anee 4

(1) ST (2 ¥ $ mi

(3) F=x w (4) vt o # g

| 40
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139.

140,

(148)

14P/229/4

The concept of ‘my station and its duties’ has been advocated by

(1) Hegel {2) Kant (3] Bradley (4) Butler
‘U0 T aWT Iuk Fe H sEunen & SRmea e feer 27
(1 e (2] ®mo2 (3) #zH 4 sEm

The principle of categorical imperative has been propounded by

(1) Mil (2) Hegel (3] Bradley (4) Kant
Renfts sew & fuga =1 wfdaes fieey fer &7
{1} fm {2) W= (3) #%a (4) WL

Which one of the following is the support of the other Ashramas?

{1] Sanyasa (2} Vaneprastha [3) Brahmacarya (4] Grihastha
Pt & & @ v st w1 i 47 |
(1) w=m (2) IwE (3) we (4) TEe

According to the Gita, the four Varnas have been created on the ground of
(1) Jati (2] Guna

(3) Guna and Karma (4] Karma

e % wFER IR T4 ) @ F oA R

(1) afa {2) ™ (3) Tor Al = (4) =

a1 . (P.T.O.J
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i41.

1432.

143,

(148)

Risi Rina means

(i) performing sacrifice to please the Gods

2) worshipping the forefathers |
{3) promoting the teachings and principles of teachers
4 totakeSmym-

w =W & oonf R

(1), duamit ® wom & & g 9y W

@ fl R

(3) et @ el mn frgret W yER FEn

(4) €=U AW WA

mcidcalodfﬂadhiaamahaabémmptedm

(1) Mahayana Buddhiam (2) Hinayana Euddhiam

(3) Jainiam | (4) All schools of Indian Philosophy
wiftrres w srext oo fe mar @

(1) v A @ tmmdgd

(3) ¥ i # (a) v TR & oft wweR ¥

Which one of the following actions have been done in the past but have not started -
yielding fruits? '

(1) Prarabdha (2} Sancita
{3) Kriyamana - (4 Prarabdha and Sancita

42
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Prrfrfam % @ @ w0 i A B # feg ond v 3 oW AR €7
(1) wresl () whm (3) Fwmmor (8 vea ol wfm

Which one of the following actions can be exhausted by reaping their fruits?
{1} Sancita (2) Kriyamana

(3} Sancita and Frs:r#bdha (4) Prarabdha

Brafefrs 3 @ R 1 w1 1 = F FE H M W Bew o owwm @7

'{1}1#&?!- - (2) T (3) #fm o ymem  (4) WY

Which one of the following does not accept the ideal of Jivanamulkti?

(1) Advaita Vedanta - (2) Samkhya

(3} V-inisr.adva.ita Vedanta (4) Gita

frfefes 3§ 4 #9 dEghe F sl ® T w=iEr w=m?

(1) T ¥ (2) wiE (3) Rffede agmm (4 T

Which one of the following arguments proves the existence of God from the idea of
perfection? _ |
- . (3) Teleclogical (4} Moral

1 Qntulogtwl (2) Cosmologienl

f;a{zﬁ'[mﬁlmt?
a4 ¢ WA T T ' s
2 | 2 (3) TS | {4) e
\I\ ﬁq- ) i .
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148.

149.

180.

fycfften # @ W% s W W wew feg wi-RgE B T A7

1) s (@) ¥ @ ¥ (4) s

Which one of the following believes that devotion is the path of liberation?

(1) Advaita Vedanta ' {2) Samkhya

(3] Mimamsa {4] Visistadvaita Vedanta

frafufra 4 @ 9t o ¥ 6 wfte Stg = ot &2

(1) e ez (2) wiEm . {3) whwrEn (4) fafmdn ¥z
Which one: of the following is a pantheiat?

(1) Deacartes (2) Spinoza {3) Leibnitz . [4I:. Hegel
fPrafofim & @ w0 wdvaEd 27

(1) ¥ - {2) et (3) wEiEE @) W

Em;l one of the following arguments for God's existence has not baen refuted hy
t

(1) Moral (2} Cosmological (3) Teleological
(4] Ontological
ﬁmkwﬁa%mm--ﬁﬁﬁﬁmmmﬁmmﬂ
) Sl B N 8 i 'm
- [y I S
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